Radios with values 0, 1, 2. Checked works.
O Radio 1, vaue0 O Radio 1, value 1 © Radio 1, value 2

Radios with values 1, 2. Checked does not work.
O Radio 2, vaue 1 O Radio 2, value 2

Radios with values 1, 0. Checked does not work on any value.
O Radio 3, value 1 © Radio 3, value 0

Radios with values one, two. Checked does not work.
O Radio 4, value one O Radio 4, value two

Radios with values 0, 2, 1. Checked will only work on values 0 and 1.
O Radio 5, value 0 ©@ Radio 5, value 2 O Radio 5, value 1

(0] Checked checkbox || Non-checked checkbox



	radio-1-name: 2
	check-1: 
	radio-3-name: 0
	check-2: Off
	radio-2-name: 1
	radio-5-name: 2
	radio-4-name: one


